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To be able to use the words heavier and lighter

Starter:
What’s the same? What’s different?
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To be able to use the words heavier and lighter

Activity 1:
Which object is lighter?

To be able to use the words heavier and lighter

Activity 2:
Which image shows that the potato is heavier than the cake?

To be able to use the words heavier and lighter

Activity 3:
Choose a phrase to complete the sentence.

The mass of the carrot is _________________
the mass of the diamond

greater than less than the same as

To be able to use the words heavier and lighter

Evaluation:

Do you agree?
Explain your answer. 

The bear is heavier 
than the carrot 

because it is bigger.


